Clinical criteria for the
choice of osteotomy
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The patient is not an “X- Ray”

The first step of the patient analysis
will be clinical
But also we have to “position” him
in is function envelope
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. Anamnesis
Level of activities
Who is your patient !!!!
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Is this activity important for you? (%)

PARTICIPATION = MOTIVATED PATIENTS

HTO: SPORT ACTIVITY

@ Main pronostic factor= preop level

Tegner Score préop  FU -
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2. Axial deformity analysis
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Better results in cases of constitutional deformities




o Clinical exam

% Sagittal deformity Non Weight bearing

- Flexum - Recurvatum
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Better results in cases of good motion

o Clinical exam

% Ligament evaluation
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Sagittal evaluation “Tibial slope”

°What for “clinical” ?

Q. GIVES “some first” CONTRA INDICATION
3

N * No active patient

& * Low level of activity

= * Elderly — over weight

-._E * No constitutional deformity

(@) * Poor motion

* Ligament deficiency
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°What for “clinical” ?
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